April 28, 2020

deckion (Y
Exampel Lex W ZSpanix, 8 where y = || ond xy =| 2 Find on o¥trogonal bLasis ¢V, V,X ko W,
Cyample | P Rt . 3 3 Na
“ 2
° 3

4 .
vy = T3 — Proj, T2
Ta T2 T2 ;

W
C o

4

Nok  4hev € 5@0%*&‘0\“) z S‘mnix“#;‘g =w s? %o“v,gg\d is @ ox&\noamx\ setr in W. Sinds dimW =

Mg gques Aok 2‘*:-6;2 ’i[t\\].);%k} is an oﬂ‘«\uamp\ Yasis for W.
o

3
\ 3 —_—

E L a  Let =) ¥y =\ ! * & R week R. Tad on orYNsenal Yasis conkainin
*“Mg i \ v Ya . y *3 . Xc;}; F& s g(m.a or a o 3 ~ a
\ .

\ 0 o
okehion:

W 45?“"?"..";‘ }




® \I,’X.:(“]

@ I ?toy‘)‘; R




/I‘V(o‘cm o ('ﬂ'\c Gvon-

Schmidt ?'w;s \

Cv}vt'\ o basis

Fren z\l\‘ .y V?‘S

(é\Lﬁ'\:.

iy.,

‘ \c(,"; L'w a nonzerd

Yardi gy,
e
Yo Ya-Va g
d‘-\lt q‘.d‘
YoV A
oSy - Ry, -
. ~ ~~l),
a

S on odhoaoncxl ass Qw W- Tn osdo\iﬁof\‘ s?a.c\iq”...ldug

SW\SS?GLL W of \w, delin<

3?a.niy,‘...‘x‘§ Lor o)

Dolwion: @ L

- —-—

Rty
NECR

(CER N

(sprmal) Y, =

:‘__l\l

N, -y

A

¥~

ﬁm‘“i’_\‘_—g Let W ¢ 5?0"\27‘“*1\ *3% whert T ( l‘ f}’ | \
\

Find on «4\-\069-«..\ basi s
Lor W .

f \
| \
= | Al-l‘k R teuas) | ! . g | .
- [‘ 3 t I - (Iﬂ’r"\) \ 3 R R 3
Soppe b Co
\ ] ol v
3 ) . |’3/A
‘_‘_Q/“
l"q/n
-[%
R/
"V
3
3
3
- 5[ 1l X \
3 3- . . ] 19
) J - ! [1;] 3] ]_ 13 Z\.
NV |- -,\_', 1
-3 [)}‘_\} 3 .X
3 3 _\'%
\ 3
: ' ) w3 \ _ (3”““3”) 3v
10 1 +9 3 A+ 129 F -1}
-3
)
= l | 2
1o - 'i— l - ‘iﬁ 3¢
-3 3 1494 213




108
© 97’1\'1.'
«
'5‘/1\*3.%
9
: l‘l‘:};\'/l\ o
&
-33
F_U/“‘Ia\j\ o
2 |° = 3
o e
0

3%
13

An cr«\’l\ba‘,af\c‘ basis -Lr W i‘l\”;z : \\l \3 X
3



